# Name Date

Instructions: Find someone who can use order of operations to simplify the expressions and place it in
the answer column; then put his/her initials in the initial box. Each person may only sign once.

FIND SOMEONE WHO...
Can use order of operations to simplify the expressions

Answers Initials

| 3x(10- 2)+ 72

2. | (34- 2%2)=( 8 + 2)

3. (2x8-7%)+10

. | (3x5-3%)-38

5 | (8- 3)2+(24~+ 4)

6. | (40- 4)=6 + 72

7. 6 x(14 + 6) - 6°

8. (36 - 22)=(15- 7)

5. | (40- 4) =18+ 27

0. (5+3)2+(14+ 7)

. (2 +4)2+(8 = 4)

12| (52- 2) =2 + 62

13. 3 x(12- 3)- 32

14, (55- 5°)+(12- 2)

15, 4x(9-5)- 3°




